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(1D --> use a Sign to indicate the direction of a vector)

Far = F =
B Fy =Ma Yo F-f - F —pN - Ha

~ F-p.Mg = Ma
Wovk_ {:[ P j

X 58 o\\ss\‘oa’res energy from M

©)

C,> Wore OF Bt

D Wok of F
W = F-Ax :EMQ«—HEMS%AK

\}\)F _ wﬁd— _\U-FH

—>

D IUN=I ABs = O

_ Fuc
L~ 2B =W - Ma ax
= S,Ohj- 2.0%2 Ol w

= 10J
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\ consider the system to be the mass and the force field, thus there is

no external force wor\dnﬁ on the mass. \€ the force field is considered to
be an external one, then | have to calculate how the external force char\ﬁes
the kinetic energy of the mass \;>3 o\o'\ns work on it
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